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COER University
Yo END SEMESTER EXAMINATION, EVEN SEM 2022-23
¢ 3 hours Total Marks : 100
'c“"""“.":: ! 8.Tech.(Mons.)-CSE, CSE(AIRML), CSE(Cyber Security) Semester [V
: Computer Organization Course Code : 50C202

m‘.“ Wions are compulsory. Mo student is sfiowed to leave the examination hall before the completion of the

QX No1 | Mwm:mmmmsm ’ . €0 B
(.) “ hat are differem 1 ypes o { 'fgstﬂ(" transfer w CO 1 1
! (b) lplmn P olling method of serial arhairataom wah - "ages and Jm;d\ antages Co l 1
(‘) | "'ﬂ]‘m'( i)m& ¢ humm‘ method and 7 W thod of serial arbitration | CO l i 2
(d) \ul\c S and 4 using Booth s algorithm wigh “ﬂ chart ' ; co1 i 3
(.) \[ﬂu!ﬂ the different type: hf(.l he memory q‘«n‘- . ‘ co1 2
Q. No 2 | Attempt Any Four Parts. Each Question Carries § Marks. ' o B
| (.) ‘ - Define hmd'\:,m and macro pt grammed gontrol wnit ) I co2 . 1
{ ‘h) . ’ \plmn slack Hlk'.ﬂu/.ﬂu " ‘ CO 2 . 2
(c) ‘ What is cache mem: 7 ' co2 ‘ 2
(d) Define a detajhes IMn[munu!“ymnwmhtum for four registers ! coz . 1
(@) Define read and wilte operations and desgfihe memory transfer with diagram CO 2 1
Q. No 3 | Attempt Any Four Parts. Each Quastion Carries 5 Marks. .~ co BL
(a) What s Circular shift in Computer Architecture” Explan with the help of examples. €03 | 2
(b) | Define addressing modes and explain €03 2
i (1) Implied mode(ii) Immediate mode (1) suto increment mode 1 | '
(€) | Convert the following numbers as indicated co3 13

l (@) (110101 ) 10 unsigned base 10

? (h) ( 29),010 two's complement (use § bits in the result).

| (¢) (61843), 10 unsigned hase 16 (use four base 16 digits in the result)
| (d) (37)1g 10 unsigned base 3 (use four base 3 digits in the result)

(d) | Explain paralic] data transmission and sorial data transmission l co3 ’ 2
(e) | Iaplain multiple shared bus in computer archnecture ' C03 2
Q. No4 Attempt Ani Two Parts. Each Question Carries 10 Marks. €O BL
(8) | Fxplain memony Hicrarchy with charactenistics _ ] C04 2
(b) | Define concept of paging in memory management hardware _ CO 4 1 |

(c) We want 1o speed up computer performance with an additional unit for calculating in 'co4 3
Nloating point format. This unit 1s 20 umes faster than the same operations without
unit. What percentage of a total computer time must this unit be active to achieve an
| overall increase in computer speed for 2.5 times?

Q.No 5 _Attempt Any Two Parts. Each Question Carries 10Marks. €O BL
(a) | Analy ze the basic concepts ul‘pi[\cliﬂ;qL with examples - — cos 4
(b)  Ixplain De-Morgan Theorem with the help of example. ! cos T2

(¢) On a computer with a 32-bit memory address and the length of the memory location of CO5 3
| byte is installed set-associative cache. Cache size is 16 KB, block (line) size is 16
Bytes, set associative cache is 4-way.
a) How many sets are there in cache?
b) Which bits in the memory address determine the address of the set?
¢) Into which set 1s mapped the content of the memory address 10FFCFF ;7
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